Ratio to CDF

2.5

1.5

0.5

0.5

1960 GeV ppbar

Underlying Event

= . L L I I e )
— — &
- Average p_ Vs p_ (TRNS) (| <1, p_> 0.5 GeV) 2k
C s 1=
. m CDF : __g
- --3-- Herwig 7.0.2 default N
~ —— Pythia 8.212 default 1<
e ¢ Sherpa 1.4.0 default —™
— 5 e
B e
B e
E Bl
— | _ 1l
| )
~ . guuan ® § = mu m M- S
B L nu - u 19
B =
. | X
L .5,
K 15
’ =
B o
— — O
| —Hwn
- e
- 4o
| ] (@]
| —1 | | | | I | [ | | | | | | | | | | | E

:l T T T T | T T T T | T T T T | T T T T |:

— =2
1

—0.5

......... I T S T S
30 40

pT(Ieading jet) / GeV



	Contents
	Page 1


